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1st Round 532:%555 SGUSHIKOKU GOLF UNION
POS PLAYER CLUB TOT 0 I POS PLAYER CLUB TOT 0 I POS PLAYER CLUB TOT 0 I POS PLAYER CLUB TOT 0 I
1 5 3 80 #1 = o =sG 66 33 33 47 B A F B @EEusC 78 40 38 89 % H ¥ omnom@EG 81 40 41 151 11 & = BA Bo=EC 87 43 44
2 2 xR BOEC 69 34 35 [ B & — tE-m°pc 78 45 33 w1l B = SAG 81 41 40 W A&x & = UG 87 41 46
B B F 3 @BC 69 35 34 B E B - INSEG 78 37 41 INR 2 smroEEEG 81 42 39 AN H £ — moF=Emc 87 46 41
E )| B 13 DG 69 36 33 fk B B — #Euxc 78 39 39 B — BB #EBC 81 43 38 P9 B 3 A1 e 87 49 38
5 M K # E Lik1-mrc 70 35 35 = A & K BB &E%G 78 39 39 I8 W — BB EBBC 81 43 38 K B Z IIEERG 87 44 43
A R £ MILERG 70 33 37 W T EF Z L#iC 78 40 38 m AR 3 O{Z KMG 81 42 39 BOH B 195999G 87 48 39
B E AN E#EG 70 36 34 ¥ th & B mBE+c 78 39 39 £ 2 K {# = FHEC 81 41 40 B AN | Sm1-c 87 41 46
8 I T R — mEC 71 36 35 I A & & dtRC 78 41 37 A K R PE FCieE 81 45 36 ] A E #utybiac 87 45 42
W E B #wy-mrc 71 38 33 BOK E BEC 78 40 38 5 B 1FE #f wytix’c 81 43 38 159 & H Bl & TfE1-M°7C 88 47 41
10 X 8 &R B /206 72 37 35 B & B Z E¥C 78 41 37 110 7k H B ¥ shiofE@ac 82 42 40 Z B & M UERETRG 88 43 45
#l B i MHIFRC 72 36 36 H ¥ & {C BIEG 78 38 40 = H B 1 SBuxc 82 43 39 B OR (R — smUREEG 88 46 42
F # — sm1r-wc 72 35 37 o)l M BEG 78 40 38 R W0 BB &8 #IC 82 42 40 B H f& 3 7wrEHEC 88 43 45
13 5 8 &8 8% B G 73 35 38 = B i & SHC 78 37 41 K B Z Bo=cC 82 42 40 163 & & & — $RLC 89 48 41
F = B BB UG 73 36 37 64 M H B # HEC 79 41 38 ;wE B Z #ml-rc 82 41 41 164 & /i R R mptc 90 47 43
H £ B — mE+C 73 36 37 P9 & 3 & S0m6 79 41 38 W xR = 7 N3G 82 44 38 165 5t HH 15 3 ' IifEm@EG 92 44 48
* i Mt 73 37 36 A 5h & BEEC 79 40 39 B o = BRG 82 42 40 JII B 8 & tfEC 92 51 41
M g & E FHSC 73 35 38 h B R E ERG 79 43 36 I & B {Z U3>708FG 82 44 38 Bl H & & L#C 92 42 50
18 B B M Z HWLERG 74 37 37 £ 7 K ¥ — FHEC 79 41 38 a0 & A IMsEG 82 41 41 = M E sWrorc 92 49 43
N B B A M- C 74 39 35 = iz VINBIRG 79 42 37 AR B E V4G 82 42 40 ZE AKX T E 8 srorc
&k B Eo=EC 74 35 39 N B & 5l FEC 79 41 38 F O B k mp+c 82 42 40 R K A & TIRBEG
E B & 3 DIG 74 38 36 + B F B BEG 79 41 38 121 &8 & ¥ MWILERG 83 42 41 R B B F & #ERC
M B % 2 BEG 74 36 38 # & & i scu 79 41 38 K 8 F £ IUREEG 83 45 38 xR &H ) M F EHBROLC
23 [ # # 5h MEC 75 38 37 I B B — #piC 79 41 38 ¥ H = £ SGU 83 45 38 /O T I N =
8 H E X BB #lnhG 75 37 38 HE H K & M OEBRETG 79 39 40 ® B B B SAaC 83 43 40 R F E B Z #y-HMMC
ES B F G 75 38 37 A FE — 1953996 79 38 41 il %= MWA+C 83 47 36 R P A & B EBEC
S H =B OIf 56 75 38 37 B E IE 8 sHc 79 41 38 B K R R WRuxC 83 43 40 R H = E SUUIMAG
X B B BIEG 75 37 38 B H & F &inc 79 38 41 TN R OB smuEMESG 83 40 43 R HFH B E BHC
KOH M = Hyirc 75 38 37 78 B A E th mEC 80 39 41 =Rl £ Z f88C 83 43 40 R B O & 18f9C
== @& Br-ouae 75 39 36 £ B F B IRsEG 80 41 39 R OR R 1sfc 83 42 41 R B K B i sHc
30 A & R 11 #ILERRG 76 40 36 | kK B E VUMIG 80 37 43 JK H 2~ BB Je%C 83 44 39 R KXKE % E B FHEC
I 1l & #2 SiAC 76 37 39 B A X B smodEmec 80 39 41 131 & #& = Bl #EXG 84 45 39 &Ko K R FE HEUEAEG
I N BB Xk J35>7M8FIG 76 39 37 H Lt #H 3 wEuRC 80 41 39 m AR = 5 BEC 84 41 43 R B 8 F E BBG
2 = Z S 76 38 38 & A — FE HELUEG 80 41 39 " H F LN C 84 42 42 xR OE B 9 F &%
= ¥ B X B Eo=C 76 38 38 B F 17 ARC 80 41 39 H £ F FE 704G 84 45 39 R_H # {E 1 #RlC
g iE s BIEG 76 39 37 ;] BF IE #utypix’c 80 43 37 &8 F 8 ETEC 84 43 41
MR B A vmFEmG 76 40 36 £ K F E BEG 80 42 38 = H g — saC 84 43 41
b F BEG 76 37 39 B H A A $HEERC 80 40 40 £ B & A BC 84 47 37
il 5 %% 4% — #ocdex 76 39 37 B E BE & JwrEHEC 80 42 38 = 5% B Bl #ILMIG 84 43 41
39 1 B8 k »U-u-G 77 38 39 80 £ B = B IIIG 81 44 37 WK x 8 i SRG 84 44 40
A B BB E DG 77 37 40 it M B — 0(vlestc 81 42 39 H £ B 5B Xic 84 42 42
X B\ F B BE¥C 77 39 38 B 8B E B ARG 81 42 39 " §B 3h & hyMirc 84 40 44 CuT 81 S 89 IHMET
+ ot E A X206 77 40 37 A Il M — FEC 81 42 39 o B s oEERG 84 41 43
M B — Bo=C 77 37 40 = {8 mEC 81 41 40 143 K F* & th @®EC 85 46 39
m Ax F B @EEC 77 38 39 T B X # Bo=C 81 43 38 B M Y B mEuRC 85 46 39 AR : % 1 7 &£ 9 A 25 H
= F & tkUMAEG 77 38 39 BE il & 1 BY¥YC 81 45 36 g 58 ZF # WLERG 85 41 44 BRF: M W I J B XS
X + — E FHEC 77 39 38 == x SiE 81 40 41 B A = & A -G 85 48 37 (6,409y Par 72)
47 BE N ® % tiEC 78 40 38 H# B (EEr-le 81 43 38 A & X 7WrEmEC 85 46 39 FE: M JT ) 7 & 9
= ¥ — B tL#C 78 38 40 woH B oEREEG 81 41 40 148 B K =2 BlC 86 43 43
= B & A BXG 78 39 39 B B & Z smruEEmG 81 41 40 B 1 B B s c 86 40 46 BmREER IH &
# H F & J5>78HG 78 41 37 W B 55 AN wnuFEmG 81 42 39 R B B B 1BFIC 86 40 46 Conducted by the SGU




